Can | solve problems involving money, choosing the appropriate operation?

1. What is the total of £110.12, £3.43 and £11.07 ?
2. How much does one of each cost?
10 for £3.90 100 for £16.00 5 for £1.55

3. Find the cost of 145 bottles of Lemonade at 21p a bottle. How
much change do you get from £50 ?

4. Things at half price now cost a) £36.18
b) £111
c) £27.34
d) £274.30

What was the original price of each item?

5. Three people won £363 630 on the lottery to be shared equally
between them. How much did each one get?

6. Costs of rides are: Galaxy £1.65
Laser £2.80
Big Wheel £1.45
Spaceship £2.70

Amy went on two rides.
She had £5.65 change from £10.
Which two rides did she go on?

6. 4030 people go to a football match.
Each ticket costs £4.25.
What is the total cost of all the tickets?

7. Petrol costs 64.2p per litre.
What do you pay to fill a five litre can?

8. Sarah was given £100 for her birthday.
She paid £32.99 on a camera.
She spent £13.49 on a video.
How much money did she have left?

9. The deposit on a £230 chair is 50%
How much is the deposit?

10. Tony saved 17p a week for a year.
How many pounds did he save in the year?



